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Questions #1-4 refer to the following: The equation converts temperature in degrees Celsius to temperature in degrees Fahrenheit.

1. Use this formula to find the temperature in degrees Fahrenheit if the temperature in degrees Celsius is 40. 



2. 
Find the inverse function of .



3. What does the inverse function tell you? 



4. Use the inverse function to find degree Celsius if the degree Fahrenheit is 40. 





Questions #5-9 refer to the following: To convert currency, Freedom Bank charges the current rate of conversions and a $12 fee.  Based on the currency-conversion rate from the US dollar to the Euro, the function models the resulting currency C (in Euros) when a person converts a dollars.

5.   If a person converts $100 US dollars, how many Euros will they get? 



6. 
Find the inverse (function) of . 



7. What does the inverse function mean? 




8. If you received 50€ Euros, how much did you start with in US dollars?

9. Suppose you wanted to convert US dollars into pounds or another currency at Freedom Bank.  Research the conversion rate and create your own function.  Explain what your function tells you, in words.



[image: ]
Questions #10-16 refer to the tax table on the right.

10. Using the tax table, what is a person’s income tax if their income is $75,750 and they are single? 



11. Using the tax table, what is a person’s income tax if their income if $75,250 and they are married filing jointly?



12. Suppose that we think of the entries in this table as giving the tax as a function of taxable income.  What would the inverse relation tell you?



13. Is the inverse relation a function?  Explain why or why not.



14. What is a person’s income if they are married filing jointly and their income tax is $10556?



15. What is a person’s income if they are single and their income tax is $14,813?




16. Suppose a person is single.  Could you find a function defined by a formula instead a table  that would tell exactly how much their income tax is based on their income for the year?  Explain why or why not.  (You do not have to actually find this function.)
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75,000

75,000 75050 14613 10469 14,631 13,169
75,050 75100 14625 10481 14645 13,181
75000 75150 14638 10494 14650 13194
75150 75200 14650 10506 14678 13208
75200 75250 14663 10519 14687 13219
75250 75300 14675 10531 14,701 13231
75300 75350 14688 10544 14715 13244
75350 75400 14700 10556 14729 13256
75400 75450 14713 10569 14743 13269
75450 75500 14725 10581 14,757 13281
75500 75550 14738 10594 14771 13294
75,550 75600 14750 10606 14785 13,306
75600 75650 14763 10619 14799 13319
75650 75700 14775 10,631 14813 13331
75,700 75750 14788 10644 14827 13344
75,750 75800 14800 10656 14,841 13,356
75800 75850 14813 10669 14855 13369
75850 75900 14825 10681 14,869 13,381
75900 75950 14838 10694 14883 13394
75,950 76,000 14850 10,706 14,897 13406
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